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CHEMISTRY — GENERAL
Paper : DSE-B-1
(Green Chemistry and Chemistry of Natural Products)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Answer any twenfy questions :
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What type of reaction has the highest atom economy?

What is E-factor?

State the second principle of Green Chemistry.

Give one example of solvent free reaction (equation only).

Give example of two mostly used supercritical fluids for green reactions.
What is the commonly used solvent in Cleaning Industry?

What is the source of microwave?

What is surfactant?

Why green chemistry prefers the use of catalyst instead of reagent?
Write two disadvantages of the conventional method of Beckmann Rearrangement.
What is the most important criteria for a molecule to be MW active?
Name the fundamental building unit of terpenes.

Which chemical was responsible for Bhopal disaster?

Mention one medicinal use of reserpine.

Name the method by which the presence of N-methyl group can be detected in hygrine.

Write one example of ionic liquid.
What do you mean by the term ‘PEG-400’?

1220

Write two names of alternative energy other than thermal energy used in chemical reactions.

What do you mean by ‘in-water’ reaction?
What do you mean by Critical Miceller Concentration (CMC)?
What is the role of thiamine hydrochloride in benzoin condensation?

What is the frequency range for sonochemical reaction?

(w) Write the name of the heterocyclic ring present in Hygrine.

(x)

State one advantage of using ScCO, as solvent.

Answer any fifteen questions :

(a)

(b)
(c)

Calculate the % atom economy of the following reaction :

0 0 0
I ) )L Ll /\)‘\/\ + 2H,0
J )
Me” “Me Ph H Bl @ py,

What are Fluorous solvents? Give one example.

Write one green process for the synthesis of adipic acid (with chemical reaction).
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l,g‘;;;(.cn Give one example of aldol condensation reaction in green method. Write the green context of the

‘(E’j M#ntion two disadvantages of the conventional method of the Fries rearrangement.
‘How do you detect the presence of aldehyde (- CHO) group in citral?
(g What are micelles?

‘fmictional reagents? Give any one example.
hygi'ine lose its optical activity in aqueous medium?

tion condition for conversion of methyl benzoate to benzoic acid under MWI. Mention
text of the reaction.

h_gsetransfer catalyst? Give one example.




